Maths Home Learning							Name:________________________
Wc10.06.19. Due 17.06.19.
Adding by Partitioning (Mr Whitty and Ms Louise) 
Use the partitioning method to add the following. 

35 + 23 =				43 + 32 =				52 + 47 =





65 + 43 =				76 + 55 =				84 + 64 =





Revisiting Previous Learning - Number Bonds and Counting
[bookmark: _GoBack]Find the missing number bonds.
40 + _______ = 100		63 + _______ = 100		_______ + 31 = 100	

Finish the number sequences.
75, 85, 95, 	,	 ,	,	,	,	,	.

245, 235, 225, 		,	,	,	,	,	,	.


 




